MBI BZ&SH Kt

—\ . L Ay IS)
*/-.R/E * ;FT%TW : Eﬂ;fﬁ{ﬂ?l.;gg bulk order

NEW CAD
=

= » . . T | BREE
oits sn | pE | WE | sy |THEE | BRER| mEEr | wus
H H
GMSSNN
s AAf | EE% | ERE ;
EgixX | EBizL | 56HRC ~ | FEW
_CUSSMN | maw | mwa | BRE —
GMSSN2NH | % =ite I 2
IREEHIR
C 7 FL
sa ) (AL iEEE)
© ©
© = ©
© © =
g
Hl=
g |d
BL &M
W L1
B Lo
Bi£0.1 J JM D c
] -
E’lf ERUE r% I
H?H ] TEAY ———
N _w
TSRS T : BN
oS - ®H - ©OL - oEmrs
GMSSNN - H8 - L200
GMSSN2N - H8 - L500 - z2
|J|:l ;‘1 3 =y S
\=§=? oL Hy . BRRST EAFLRT
OHs OH W B © L2 L MXx 2 B1 Ci 12
8 1.5 5 17 12 8 13.6 236 |M2x2.5| 85 8 2
GGhrSSSSNNNNH 10 2.2 5.5 20 15 10 19 30 M3X3 10 10 2.5
CMEaN2N 13 50~1000 3 7.5 27 20 15 19.9 33.9 |M3x3.5| 13.5 14 3
GMSSN2NH 16 4 8.5 32 25 20 27.4 42.4 M3X4 16 20 4
20 5 10 40 30 25 34.6 50 M4x6 20 25 4
S BHMRS 2 HE £
— - WRENH | BEEAH | BR | AR
GT’C? 9 H Wr Hr D h d = @Eﬂ?*ﬁRv C(kN) CO(kN) (kg) (kg/m)
8 7 4.7 4.2 2.3 2.4 15 M2X6 0.9 1.5 0.01 | 0.19 )
GGJ"SSSSNNNNH 10 9 5.5 6 3.5 3.5 20 M3X8 1.5 2.5 0.02 | 0.31
aMaSNIN 13 12 7.5 6 45 3.5 25 M3X8 2.2 3.3 0.04 | 0.61
GMSSN2NH 16 15 9.5 6 4.5 3.5 40 M3X10 3.6 5.4 0.06 | 1.02
20 20 11 9.5 5.5 6 60 M4X10 5.2 8.5 012 | 1.65
ANEREILIRESZEFARER [REFIFE] = P331 88K “HESH - fER”,
]V
“ My Mg Me
~ A A
=]
EBINT | OBNR® it el ) <=
EENMERN~RE
AEH I 2~8 /IR, HLEESH L. e
SERERIE AN z2-28 f5: GMSSNN-H8-L1000-24 BIFEE B3
1000 KIS _FLALE 5 AR eH Mr Mp My BB
ERTRRNFRE KN=m KN-m KN-m HE
T S 00 2-8 BHR , FEEIREEE . 8 5.2 41 4. we
SEREEN : GMSSNN-H8-L1000-ZB4 10 10.2 5.1 5.1 e
1000 KEISH EAAE 1 fHBIR, B 4 HBRBIMEE, 13 16.1 8.8 9.5
A EIRHER RN EEE ERE 16 39.6 21.6 234
A BRI EBIRF @B 20 86.4 48.4 48.4
1-20 2il= 1~9 10~
STE | WM LA T 100% | BTRH

Www.ant—fa.com ESFRNRIESERIFERE SN 362



